The Dose Makes the Poison
Name: Natalie Nolta
Directions: Please answer the following questions using complete sentences.  Refer back to the reading “The Dose Makes the Poison” to help in finding the answers.

1. Do you agree or disagree with the following statement: “All substances are poison; there is none which is not a poison.  The right dose differentiates a poison and a remedy.” Give at least two examples to clarify your answer.
Yes, I agree with that statement because in the reading, it stated itself how it was true.  Even table salt can kill you if you consume too much of it, and I agree with that. If you consume too much of anything it can make you sick and even kill you. It all matters on how much of it you consume.

2. Think back to Activity 2 (when you tasted different amounts of Hawaiian punch mixed with water).  Did everyone in the class see, smell, and taste the punch at the same exact time?  How can that information be used to help you understand dose?
Not everyone in the class saw, smelled or tasted the punch at the same time. This shows that they can take the dosage of the Hawaiian punch easier. For example, if one student saw the Hawaiian punch in the 3rd cup, but some saw it in the 4th, the students that saw it in the 3rd cup can handle dosage better. Maybe the students who saw the punch in the 4th cup would die with less Hawaiian punch than those who saw it in the 3rd cup.

3. Would the lethal dose of ferrous sulfate (iron supplement tablets) for a child weighing 20-kilograms be the same or different than a child weighing 60-kilograms?  Explain using complete sentences. 
The smaller child would have to take less of the ferrous sulfate than the bigger child. Their body is smaller than the other child. It would be a lot easier for the smaller child to overdose on the ferrous sulfate than the bigger child because the smaller child is a lot smaller than the bigger child. 

4. What are some explanations for why alcoholic drinks affect some people more than others?  Give as many reason as you can.
If a 12 year old drank alcohol, they would probably reach their threshold a lot faster than a 40 year old. The child’s body is a lot smaller than the adult’s body. 
[bookmark: _GoBack]
